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d and correct the mistakes with the use (or absence) of
brackets in the following sample.

Wrong way round
The abbreviation comes
after the full name and

is in brackets

This information is used
to clarify and works
better in brackets.

This should not be in brackets
as it is not ‘extra’ information
used for clarification.

After World War two (WW2) the relationship between the USA and t
became very strained due to conflicting ideologies (the USA believing,
Capitalism, and the USSR, Communism). This relationship became known as the
Cold War, and lasted for over forty years. There were many crises during the Cold
War (for example, the Cuban Missile Crisis, The Vietnam War, the building of the
Berlin Wall). One of the most worrying aspects in the tension at this time was

the build up of weapons of mass destruction, (WMD), which include nuclear,
chemical and biological weapons (Gaddis, 2011).

Needs brackets “This could be in brackets
s a clarification of the

preceding information.

This should be within the

sentence, with the full stop
after the last bracket.





